Pre-Cal. Algebra Review Assessment
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

.rform the indicated operation and simplify.
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Multiply. Write the answer in lowest terms.
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Use the geometric interpretation of slope (rise divided by run) to find the slope of the line. Then, by identifying the
y-intercept from the graph, write the slope-intercept form of the equation of the line
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Perform the indicated operation and simplify.
34 6t 4-bt  2(2- 3¢) 1) C_

722 zZ+t 2 A = ——

A) 2(2 +23z! B) 2(3z - 2) Q) 2(2 —2'32) D) 2(222+ 3)

zZ Z z Z

Q’“}s 8 (7)) | ,@0 Tir 14)_8_

Qq@ r r+6(r) - F(V+‘°)

= S¢ 130 v
Lry©)
. \3c 0
v (r+6)
A) 13r + 30 B 13r + 30 Q) -30r - 13 D) =30r - 13
(-6 - 1) r(r + 6) r(r+ 6) r(-6 - 1)
Y2 p- .
Find the slope of the line through the pair of points. = : 0 %f—y— vl _%
15) (-8, 0) and (0, 5) Xz G 15)
5 8 8 5
A) = B) — C)-—= D)-2
) 8 ) 5 ) 5 ) 8
Write the rational exEressmn lowest terms.
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Add or subtract. Write the answer in lowest terms.
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Write an equation, in slope-intercept form if possible, of the line through the pair of points.
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Find the intercepts for the graph of the equation.
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